Validity of the Cartoon. – BY MINUTE TAKER!
Think and discussion around the validity of the cartoon : “Figure 5, walking the development tightrope” – how true or false it is, it clearly depicts a gap between development, a man making his way across a tight rope. – metaphorical cannon throwing balls at him which are – SAPs, Brain Drain, trade, Debt, HIV/Aids, and war

We must think about how true this is and to what extent it can be contradicted.

For (true) : sub-Saharan Africa – become more independent recently, struggled to develop, suffer from AID’s/poor trade law/War/SAPs, prevented from developing. Barrier is money, have to cut health care/sexual education/distribution of condoms. Lots of interacting factors.

Why? – what could the man being blindfolded reflect. – in terms of developing countries being isolated, no one to lean on like countries that are more developed have, looking at isolation of countries instead of the gap. Ongoing progress if the man falls off the “tightrope”. Having to start again. Poverty is an ongoing issue.

Countries alone in the way they are trying to become developed nations, maybe represents – If they fail they maybe can’t get up again?. In such a fast-going world, economies becoming stronger and stronger, when countries fall further behind its harder for them to get back up again. Increase in TNC’s than there was before, they are looking for countries in which they can create foreign direct investment. Won’t approach very underdeveloped countries so cannot boost economy. The only way that it can climb back out of he ravine if is there is effective aid? Haiti – if there hadn’t been a disaster they would have been in the same place – Haiti more recognized now.

Nobody on the cartoon – but there could be depicted a man firing the cannon as if there are deliberate barriers, unfair trade etc. they don’t want them to develop because they benefit from the situation that is currently in place – cheap labour etc.

Invisible man firing cannon.

A big event has to happen for people to notice the situation of a country. We have a lack of knowledge about these places ( example = Haiti), better to foresee and prepare before.

Counter argument! – Almost impossible for this preparation to happen? – if you calculate the amount of countries in the same situation of Haiti people won’t want to give money every month to many countries. – ALTHOUGH! There could be other solutions such as wiping the debt of these countries so they can start to develop. Suggesting that there are different levels of response – e.g. Thomas Tallis raised 1,000 pounds for Haiti. 

How do people make a difference?

DARK F (fewa)– There has to be countries in this situation (poverty, underdeveloped) for the world to progress – CONTROVERSIAL STATEMENT.

Matt – in a perfect world, a country doesn’t have to be underdeveloped, they develop at a different rate, doesn’t mean that some have to be under. They rise slowly instead of going down.

Jacob wants in ! – Would need three planet earths for everyone to live how we live. Need to change our perspectives of development. Eat less meat, consume less, ride bikes.
Jess – I was a bit horrified at first, but then I though, maybe it is right, what we perceive as development – us getting money. There has to be people that are underdeveloped.

DG – Well being, - what makes us happy? What do the MDG’s set out. Halving child poverty, health care, not saying that places can’t get richer but thinking about our development goals in a different way.

Back to Dark F – If people did have education then exploitation would stop happening. – Underpayment because people didn’t have qualifications. Countries need to be undereducated for other countries to be better off.

Daring Dave (Daniel) makes a comeback! – Development should be equal, but maybe it wouldn’t work if it was equal, if everyone had the same education then there would be too much competition for jobs.

DG – interesting point, but should it be that someone working in the tertiary industry should make a 2.3 mil bonus when someone producing food doesn’t make much because it is not valued at much.

· the reward that people get for doing their job should be more proportionate to how important the job is.

Cuba – Taxi drivers get paid more than lawyers, the outside money is valued more than the money that the lawyers are paid by the state.

Fewa – agrees with what Dan is saying that people shouldn’t be paid such a high bonus. Not everyone has the same right to education (controversial). A doctor who studies for 7 years to work in such a sector who works incredibly hard to get where he is has more of a right then someone who just works on a farm – is it wrong that he gets all this money?

Concludes the For argument!
Against: 

AJ – questions validity as there is no clear indication of when it was drawn. This has now been proved historically incorrect, as there has been a great deal of improvement since the 1980s and 1990s.

Peter : No one takes effect until something has actually happened to a country – doesn’t take into effect that other places are blindfolded.

Daring dave : The situation now – super powers etc, the countries that are developed giants are starting to become overshadowed by BRICs and NICs.

Jacob – What has caused BRICs to grow? Large pools of workers, cheap labour.

Jackie –Comparative advantage, because they have such a large population they have the workers to mass-produce. China has a large market to sell too.

DG - Russia’s comparative advantage is not its cheap labour, it is its natural resources.

Fewa – Why BRICs are becoming more powerful, its because they have realised their role in the world, they have realised that TNCs can not run without them and this is why they have become more powerful and more developed.

Peter – Think he has a good point, all this history of expoitation of core and periphery, E.G. Russia saying they will cut off fuel and will not provide goods. This power through natural resources can be a force to be reckoned with.

DG – the globalisation process that is very very complicated – not a simple thing, the fact that I can communicate to someone on the other side of the world. Guy from China to tell us about development. What has been identified is that countries have utilised their advantage. FDI – very open to it but also doing quite a lot of it. China is investing in Africa faster than anywhere else in the world, significant! Why? – Africa need their investment but China need their resources. China benefits from putting the money out there, it gets back its natural resources but in doing this they help them build the infrastructure and develop things. China has a lot of friends it has invested in.

Chinese are making a lot of money and saving a lot of money. – Interbank lending. Multinational banks (Barcleys, HSBC). One of the things that has helped America is the lending of money that the people had been saving I China. If people went in and tried to take their money out it was going to collapse the bank. E.G. Northern bank who went bust. Neo-colonialism,  China, by the time we’re 30 will probably be the most powerful country in the world, economically and demographical much more powerful.

Conclusion: Three possible conclusions – 1) True, - 0 people 2) False, - 0 people 3) Complex. – 9 votes! LANDSLIDE VICTORY!
